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Similar Triangles
and
Trigonometry

Unit Outline:

. Review of Angle Theorems

. Similar Triangles

. Right Angle Triangle Ratios

. Solving Triangles using Primary Trigonometric Ratios SOH CAH TOA

. Sine Law

. Cosine Law



Formula Sheet

Pythagorean Theorem:
c2=a2+b?

Right Angle Triangles SOHCAHTOA

) opposite a
sin(A) =——— - B

hypotenuse

adjacent b
cos(A) = T 2

opposite

nypotenuse ( a
adjacent
opposite a A
tan(A)=——=— b C
(A) adjacent b
Sine Law
For the Sine Law we need: - An angle and its opposite side, and one other piece of information.
- OR SAS, ASA [and ASS (use with caution!)]
a _ b _ ¢ r sinA _ sinB __ sinC
sind _ sinB _ sinC a b ¢
The length of any side, divided by the Sine of its opposite angle is the same for all three pairs
If we are trying to find an angle, use the first form of the Sine Law (angles on top)
If we are trying to find the length of a side, use the second for of the law (with sides on top)
Cosine Law
For the Cosine Law we need: - 2 sides and the included angle.
- 3 sides
To find a side (have SAS): To find an angle (have SSS):
2_p2_c2
a? = b? + ¢? — 2bccosA cosA = %
p2—qg2—c2
b? = a? + ¢? — 2accosB cosB = %acc
2_g2_p2
c? = a? + b? — 2abcosC cosC ="

—-2ab



Lesson 1.0 - Trigonometry Prerequisite Skills

A Solving for x, to 2 decimal places if necessary.

x? =100 x? =3% + 42 82 + x%2 = 122
D x = Jioo S x®*. P41k =28 = 6% +2x*: el
2 x= Xlo 2 X = {25 = x s ey -6Y

> x=tg = x <J go
= x x18.9

B The Pythagorean Theorem: Find the unknown side.

o C
16cm
20cm C'Qal‘l-b"
b R
025 7%¢ b
cha*~b *
T12.5.7%b"
c’“ *+20* = 25+ o0 Vst “;
c ~ So-yi-32.49:=)
*s 65¢ Dc=Jésc D eRagtem
[T752=b
C Angle Theorems ~y.2
~ .
Sum of a Triangle: 0 .
Angles in a triangle add up to Comp 4s add to 3 Supp s addto |0
x= 180 - 61-S§ l Complementary Supplementary
NTh =(80-30 -87 o (£ = 5" S4p (89 200"
J"GI! Conp (65) 2 3 Sup (125) = 69

Lk

VeRTichLLY  offesSiTe
hnges

>

—

ANG LES aveud o-

} PoiNT =360

TUHEETEHYE= 360



\ 4

Parallel Lines intersected by a TRANSVERSAL

A

D TRANSVCRSAL is o kne Dok aute Ao Lires.

a* Fwo d&'&"'ﬁ\d’ fof/\td /

A

Correspondlng Angles (F)

ko’
Alternate Angles (2) Co-Interior Angles (C)
are EQUAL- /Md + 180’ are EQUAL
Je

_Zjifr éT/L? ﬂ
:7

D Solving Proportions

3_>3 x _ 2.3
a 9 9 3
D L 112 = x=23x9
3 5 3
D as %3227 - 54 ‘('3775"?6
< 3T 3
2 4
<x+7_11
Get D
-_%

= x+7=5-5
= =5.5-7
= x=-I|-5



PRACTICE

Solve Equations

1) Pnsueks xL o2 -
1. Solve. 80 B % 36 4 o
2 :m X LS+
a) x°= 36 :::s "2 49
b) x> — 6=19 . x = Jleq
' b |
9 x°= 64+ 36 X225 VAR Q_gt
d) x> = 5% + 122 vl 9T
= xst§ G942 = 625
e) 72 + x* = 25? ©) x M (436 x"z 625 ¢ 9
x> (00 X =574
x = J(00 x= 24
x=%0
The Pythagorean Theorem

2. Find the measure of the unknown side.

a) A b) A JA 16m I_C
25m a
c 13 mm b
8 cm c C
B
C B B—=c v 2
N t6cma- Sn;m 28 = Q‘—-("b
¢ = = 2-
8+t 1372 s %4 |, €L5 = ¢~L+'L$'l
Cz‘l 6% +3¢ ‘61 :'Zg'—i-bl‘ Cz: o
= P -2¥6 T a
C=\feo (E4-25 =1
c : (0cm m:‘o ‘365 > Q
. ( L"-\M .
Rounding Angle Sum of a Triangle
8. Round each value to two decimal places. 10. Determine the measure of the
a) 3.4576 = 3-«¢ missing angles.
b) 19.832 = (283 a) A b) A
¢ 9015.982 36 =~ 0I5 18
C
9. Evaluate each answer to one decimal place.
a) V59 =77 (B=130-82-7%
b) V723 = 261 B = 24° B A ¢
90.85 = 09 A C Ix 4 422 120
qO‘ 21 = ’%0"‘('),
x = 138 b9
R 2
54 [es= (T

[P= 180-F0-5¢ B

w:36°



11. Angle Theorems

1)
b= 3¢0—296-t
. Proofea oon
b/41 L 127 ( '\J(Mro"\i)
206°
3)
41°
N Q = 3;0:21!—- g
Lb=9¢
5)

—~b

\403\ b= %-to= 50"

7
\\ brmo-td= (3¢
AN
9)
L\ |
‘ =\ x = 1S " (F-pettecn)

™

X

6:‘-&5”:' L) asfl'u
gy

\
b= 88" (Opest ‘7“)

_/
\\( rw)
b b=80 [ 2 pivn
/

b=r21 (F—‘nﬂwj

8)
[
/$ x:séo[F—F“#U')
i Lo et (ofpr
10) ] 240°
b
~ 260 -2%0- -32
32° é 3 ( </ourd o~

pord)

b -3¢

Prerequisite Skills, pages 4-5

1. a) x= +6 b) x=+5 c) x==+10
d) x=+13 e) x=+24
2. a) 10cm b) 12 mm c) 192 m
3. 58m
4, a) 122 b) 3.7 c) 2:5
5. $10.50
6. a) x=3 b) x=3 ¢ x=20,y=4
7. a) 1 unit of distance on the map represents 700 000 of the
same unit of distance on the earth.
b) 84 km
¢) 5.7 cm
8. a) 3.46 b) 19.83 c) 9015.98
9. a)77 b) 26.9 c) 0.9
10. a) 24° b) 69° c) 36°

11. 1123°. 2)80°. 3)98°. 4)88°. 5)50°. 6)121°. 71134°. §)56°. N115°. 10188°




Lesson 1.1 Congruence and Similarity in Triangles

Congruent Triangles are triangles which Qre 2xactly Re Same dn f4z4 ard & Pe.
A® = xY A= X

A R
£y wern e
e ; = Ac = X Z s ==
C

Similar triangles are triangles which have the exact same angle measures but the side
lengths have a different scale i.e. side lengths may be resized. The scale factor which is a
ratio of corresponding side lengths states how much bigger (or smaller) the second triangle
is compared to the first triangle through proportions. You can use this proportion to solve
for the unknown ide lengths.

A (A= (%
& (-0
ro= (c=lz




Mathematical Notation: )

The /N symbol is used to indicate similarity. The —— symbol is used to indicate congruence.

When naming triangles that are congruent or similar, the corresponding vertices must be
listed in the same order.

For example, @@@en AABC~ADEF. (ABC # EDF)

VAN 4[5‘( ~ ZN RS 7 J[Complete each staten)ent
a) — ABC = d) ASTR —
S7
b) —BCAa = [ST& ) - =
BC Prfb A-C/B
AB
) > — e = Ac £) ~SR7 = [BAc
RS sT RT

But How Do You Know the given Triangles are SIMILAR?

Properties of Similar Triangles — Symbol: ~/
- Similar triangles have the exact same shape BUT have a different scale

PROOF #1: Show that all three angles are g
Lase= (PR
¢eac= (QFR

LAce= [PR&

PROOF #2: Show that the ratios of the corresponding side lengths are equal (SSS)

M B AC
TR T

PROOF #3: (SAS) Show that 2 ratios of corresponding sides are equal and 1 angle is equal.

L c

e h 0 T



Similarity Proofs

Angle-Angie If.two angles of qne triangle are congruent to two angles of another triangle, the
triangles are similar.

If the three sets of corresponding sides of two triangles are in proportion, the triangles
are similar.

If an angle of one triangle is congruent to the corresponding angle of another triangle
SAS proportional and the lengths of the sides including these angles are in proportion, the triangles are
similar.

SSS proportional

AAcl
Qj Is ADEF similar to AABE€? What is the length of side DF? Provide Proof.

‘@ Ts ADEF~AALB )’
= Lohad S '&vplt?fhfbff

2.3




Example
a) Show that the two triangles to the right are similar, with reasons.

b) Determine x and y T AICE ansh AD&A/
c- (F-pom)
@ =12 (Comnen agle)

' DNDCE ~ DDBA <AA~)

a) Statement | Reason

CoX =2 % =k

« “’30 = ’L"
Iy e
e 3.6
Z- 43~6:%&_x3~6 ‘
’:9 X = (% a+3~£-—8~9' v
A8 ¥-2 6248

Example
A new bridge is going to be built across a river, but the width of the river cannot be measured directly. Surveyors set

up posts at points A, B, C, D and E. Then they took measurements relative to the posts.
What is the width of the river?

a) Show that the two triangles in this diagram are similar.
b) Determine the width of the river

a) Statement |Reason 1a D ABC and ADEC
(41D (=90)
LC LC COH)OSJ’V QW‘@)

X - SO (lorvespordisg ils
> 5 =22 (BT

= x-= So;u& = 72-2.w TS 45 9.5 p.

In order to solve “real world problems” you have to be SURE that the triangles you are working with are similar. All that is
needed for proof of similarity is AA similarity.



1. Is AABC ~ ADEF? Justify your answer. A/‘ﬂ \ L/_)

/
A 5.4 cm B =

L& 7 180-26-¢7 € F
=’

2. Suppose that A@QR ~ ALMNand ZP = 90°.
a) What angle'in ALMN equals 90°? How do you know?

(£ (_ 77°)

rRC ~ ADER (AAN)
& ~N
Dy
K@_/

b) If MN =13 cm, LN =12 cm, LM = 5 cm, and PQ = 15 cm,

what are the lengths of PR and QR?

a) LL_= 90 ( c,c((eﬁ?omb\'? om?,&e/o % ~ Bs one W

L) PR=2x=23(12)= 3bam C@{/wjm&g addes o

QK:&=3(I3)333W ~Ns are

Fmﬂ&o({’twﬁ)

3. Shiva is standing beside a lighthouse on a sunny day, as shown. She
measures the length of her shadow and the length of the shadow cast
by the lighthouse. Shiva is 1.6 m tall. How tall is the lighthouse?

Tweth " " -P
lighthouse
N //////
/,/:] Shiva T
e 124 1.6 m (_///’\)9/
C 48m 6 (L 75.0m .
(B=(8 [:?09 > %8 -8
L_C - L,R (AM(\’_& y\aﬁ‘( o_i’g:"(f: JO\NW’F(VQ/ Mt“ﬁ'\?/ {6 /\/
CABCANVARRY (m\/\,) b.gh =7 75 ﬁ)
e S 98 . 75@
hE P8 (ol "



Lesson 1.2a Exploring Similar Right Angle Triangles

AADE ~ AAFG therefore AD ~ AF
AE~ AG
DE ~ FG

hypotenuse

side

opposite

to ZA

‘B
side adjacent to ZA

4"

Use a ruler and measure the side lengths then calculate the ratios.

/ s \U\'O
Triangle Side Side =7 - lf”-
OPPOSITE ADJACENT HYPOTENUSE | OPPOSITE DJACENT PPOSITE
to & '[OLA. {HYPOTENUS HYPOTENUS /ADJACENT
AABC e
Be- (. o IR CPAL
61 |AB: 85 |hc- I }’f/(/‘ v & 3508
AADE
DE ~{. R _ DE - 0. AD_O. ;ng_: :
17 M2l pe ok he 04 o082 0g
AAFG hp {9
FG=2. Fo L. . C. F = )k — =20. /GL—O
(=3-S |pF= L3 m-ss-’% 04 g, =98 208
AAHI r HT
HI—; . H? . - . _,H.l: - ,é _A/"_"-D — :Og
-2 -6y AT 2 im0 4 T 08

So, instead of saying

(o]
and for 222
adj

Ter




Mathematicians have calculated the side ratios for each
possible angle and programmed the algorithms necessary
into the scientific calculators. Even triangles with angles to
the hundredth decimal place can be solved!

Having observed now that sides and angles of triangles
are connected and related in so many different ways, we
are ready to formally move into a brand-new branch of
Mathematics called TRIGONOMETRY &

TRIGONOMETRY is the branch of Mathematics that deals
with the properties of triangles and calculations based
on these properties. As you will find out soon,
Trigonometry has a lot of advantages in helping us solve
real world problems.

Lesson 1.2b The Primary Trigonometric Ratios

Given the Right AABC

We use 0 (Theta) to indicate angle in geometry.

Angle Sine
1° L0175
2° .0349
3° .0523
4° .0698
5° .0872
6° .1045
7 1219
8° .1392
9° 11564

10° 1736
11° .1908
12° .2079
13° .2250
14° 2419
15° .2588
16° 2756
17° .2924
18° .3090
19° .3256
20° .3420
21° .3584
22° .3746
23° .3907
24° 4067
25° 4226
26° .4384
27° .4540
28° 14695
29° .4848
30° .5000
31° 5150
32° .5299
33° .5446
34° .5592
35° .5736
36° 5878
37° 6018
38° 6157
39° .6293
40° .6428
41° 6561
42° 6691
43° .6820
a4° .6947
45° 7071

Cosine

19998
19994
9986
9976
19962

19945
9925
19903
9877
9848

9816
9781
9744
9703
19659

9613
9563
9511
9455
9397

9336
9272
19205
9135
9063
8988
8910
8829
8746
8660
8572
8480
8387
8290
8192
8090
7986
7880
7771
7660
7547
7431
7314
7193
7071

Tangent

0175
.0349
.0524
0699
.0875

.1051
.1228
.1405
.1584
1763
.1944
2126
.2309
.2493
2679

2867
3057
3249
3443
.3640
.3839
.4040
4245
4452
.4663
4877
.5095
5317
.5543
5774

.6009
6249
6494
6745
7002
7265
7536
7813
.8098
.8391

.8693
9004
9325
19657
1.0000

Angle Sine
46° .7193
47 7314
48° .7431
49° 7547
50° 7660
51° 7771
52° 7880
53° 7986
54° 8090
55° .8192
56° .8290
57° .8387
58° .8480
59° .8572
60° 8660
61° 8746
62° .8829
63° .8910
64° .8988
65° .9063
66° 9135
67° 19205
68° 9272
69° .9336
70° 9397
71° .9455
72° L9511
73° .9563
74° .9613
75° .9659
76° .9703
77° 9744
78° .9781
79° .9816
80° .9848
81° 9877
82° .9903
83° 19925
84° .9945
85° .9962
86° 19976
87° .9986
88° .9994
89° .9998

Cosine

6947
6820
6691
6561
6428
6293
6157
6018
.5878
5736
.5592
5446
.5299
5150
.5000

.4848
4695
.4540
.4384
4226
4067
.3907
3746
.3584
.3420
.3256
.3090
2924
2756
.2588
2419
.2250
2079
.1908
1736
.1564
.1392
1219
.1045
0872

.0698
.0523
.0349
0175

Tangent

1.0355
1.0724
1.1106
1.1504
1.1918
1.2349
1.2799
1.3270
1.3764
1.4281

1.4826
1.5399
1.6003
1.6643
1.7321
1.8040
1.8807
1.9626
2.0503
2.1445

2.2460
2.3559
2.4751
2.6051
2.7475
2.9042
3.0777
3.2709
3.4874
3.7321
4.0108
4.3315
4.7046
5.1446
5.6713
6.3138
7.1154
8.1443
9.5144

11.4301

14.3007
19.0811
28.6363
57.2900

For any one of the two non-right angles 6, we have an adjacent side and an

opposite side.

In the given triangle,

c- Hafoi'm =~ AB

a- AG&I“W‘# = 8¢

b. o"os.'l'u = Ac

The Trig Ratios

Sine: sin 6 = Qd_p =~
Cosine: cos 0 = % =

J

s

|

Tangent: tan 6 =

ols ©

Of@(b{b C

Si

P

;«/9’)

s
O &




C
H
0 25
7
o
A 24

What is the Value of ~T?

Sine

Kc‘r\_rzl
Ay

/&A'(\T -0-2%
T= A,(,;\[O'za
T= 16" (opp)

Examples AACT

Sine: sin§ = Q_ = l
H 25
Cosine: cos T = _ﬁ_ - %_(t
A 25
Tangent: tan T = _Q_ = l..
A 2t
Cosine Tangent
T= 24 TanT= L
s o
- T3 T;J\—' ( l
T = Ga 2&) 24
2%

T=1(6" (ﬁrw

—

SOH CAH TOA




Let’s Practice on our Scientific Calculators some more:

1. Find the value of each trigonometric ratio to the nearest ten-thousandth

( (‘: decimal places)
a) sin45= b) cos38 = c) tan80 =

0-707 | 0-7%80 56713

2. Find each angle measure to th
—

a) sint = 0.422618 b) cosf =-4393267 Cc) tanf = 0.176327

( - X‘_‘\-’\ (Otru{,‘g) 2"{'3‘)37—67 o - ‘(Q/\_'[O‘|7é_327
o -l &= 0°

6 = 25’ > & (0-439 3247)
0 oy’

Given Right ADEF, label
- The Hypotenuse side = &
- The Adjacent side - ,Sl
- The Opposite side - 0(

The 3 TRIG RATIOS:

Sine: sin 8 = E_ > i Cosine: cos =ﬁ_ - ;E Tangent: tan 6 = ..9—- = i
H o e A p




Lesson 1.3  Solving Right Angle Triangles

Solving for Sides using the Primary Trigonometric Ratios

Solve for the unknown in the following:

x 3

sin35 == tan62 = =
8 y
98651\3‘): x
D k246 d&m(?—):B
= 32
a +=n 62

0(;1,).[,

Notice: Pay close attention to when the unknown is in the numerator and when the unknown is in the denominator.
Steps to Solve: 1. Identify the given angle you are solving.
2. ldentify 1 known side and one unknown side.

3. Write the appropriate Trig Ratio using #1 and 2 and solve

Solve for the unknown side in the following examples

CoH (AR

TanSS = <
T

6 <Tom$$’) ="

xn 86

B

SOH CAH TOA



SOH CAH TOA

Solving for Angles using the Primary Trigonometric Ratios

To solve for the angle, you must use the INVERSE function, which is Sin!, Cos™, Tan™

Solve for 6 in the following examples

sinB=0.4782 tan8=2.01 cose=§
O =tan ' (201) et
0= sin‘1@4782 ( 6 - los [ —S—.>
O = ¢4 (appren)

o= 29" (opprox) O =53 (pp=

Steps to Solve: 1. Identify the angle you are solving.
2. ldentify 2 known sides.
3. Write the appropriate Trig Ratio using #2 and solve

B
125 H SOH TOA

SO~ 1 11 Tan b= }-4
(25 —

¢ . ! Oz Sin _°'_> c a4 Bz Tea [AE
0 j25 0 X

D~ kb 0=y



Solve the Triangle (Find ALL missing measurements)

In ADEF. XE =90°.d =7.2cm. and f =5.8cm. Solve the triangle.

(Remember to draw Rough Figures always!! Math is a visual subject and Drawings are your best Friends!)

D e o
Tan® = 2-2
g.,s- an 5% Lo Sl= T2

AN e
9 F G = Tan™ (1}>¢¢ sl°
5-g
e Shsl=T2

=i
~J

o (D=5 J—
= (F=80-90 -S|= 3% Sia ST
e =92

| Aden

(p{ SI°

[»)

LF | 39

L




Lesson 1.4 Solving Right Triangle Real World Problems

Angle of Elevation vs Angle of Depression

The word "elevation" means "rise" or "move up". Angle of elevation is the angle between the
horizontal and the line of sight to an object above the horizontal.

The word "depression" means "fall" or "drop". Angle of HoRrzen7aL Line .
depression is the angle between the horizontal and the line M\ /angle of deprassion A
of sight to an object beneath the horizontal. Bl s\

oo '5‘4,,\

oo m
Word Problems Diagram not drawn to scale

3.8m
A

#6 A building code states that a set of stairs cannot rise more than 72 cm for each 100 cm of run. What is the maximum
angle at which the stairs can rise? (

T O% —
’(anG' 72—' (ZJS;L/
[© o
8' T&n-(( 7 7 L
Ronn

e
L)
7 35-1¢ fole
J’txf- reX o Lia of wlvdd. He
kau/; Ky NSe, IS qbowl’gff
#8 Firefighters dig a triangular trench around a forest fire to prevent the fire from spreading. Two of the trenches are
800 m long and 650 m long. The angle between them is 36°. Determine the area that is enclosed by these trenches.

¢ RIS \ﬂa +/\U\°L
%;R ~ (b5 (470-2)

2

JOo

= |s 2_,815MV




#15 A video camera is mounted on top of a building that is 120 m tall. The angle of depression from the camera to the
base of another building is 36°. The angle of elevation from the camera to th. of the same building isﬂ"a) How far

apart are the two buildings?
b) How tall is the building viewed by the camera?

L

47°
K

Ivo

TOA

Tan 36 =129
=<

x Ten 26 =120
xX = |20
’

Ton 3¢

D 16S-2m

TOA

Tan¢7=
bs-2

J6S- ZCTM ‘1'7) ‘-‘d’

agl?TLm

AZ

= o5 2
@}ﬂo

e éw(d'f

:distance between;
buildings

_k=lzo+ﬁ
(204772 2

»

2297-2m ("‘Hﬂ"’)‘)

(6S-2m

é)ﬂw+Jw~hJ%7AAr”¢M

ou\z,&,ox

m/;aM’

vﬁ

Understand that solving problems involves drawing a picture and then developing a plan to solve for the un-

known.
This may take several steps, PATIENCE, and PRACTICE.

Optional Extra Practice: Textbook Chapter 7.6 pg. 412, #5, 7, 9-13, 16, 17

we’ve just concluded the first part of Trigonometry ©















I\
Lesson 1.5 Sine Law (Super useful when it is NOT a Right Triar.gle!!)

For the Sine Law we need: - An angle and its opposite side, and one other piece of information. /\
The Sine Law:

D O € sinA _ sinB _ sinC

sinA ~ sinB  sinC a b ¢ L/

where a is the side opposite <4, b is the side opposite B, and c is the side opposite . C

If we are trying to find an angle, use the first form of the Sine Law (angles on top)
If we are trying to find the length of a side, use the second form of the law (with sides on top)

Ex 1. Calculate Ex 2. Calculate:

a = (—=)sin72 sind = (5””2)12
NI TIN AA=07b.. ...
A’_' Sl'n-l(0'7é--'-)

A = s6°

Ex. 3 - Solve for the given variable (correct to 1 decimal place) in each of the following:

a 12 35 b
a = b
@) sin 55°  sin 30° ®) sin 65°Rsin 38°
3 a = |p_($mS'S'> 35Gin18) _ |,
Sin 3o SinbS

D a2 197wk L2238 uwEs



Ex 4 - Find the Length of Side b to the nearest tenth Ex. 5 — Find S to the nearest degree.

A S
/e O
/ N t/ Y=78cm
A/SS“ ‘b\ Lar
B 120m C D s=106 cm T
b -2 S0S _ Sin47
SinSS  ¢in 8o 06 s
b - {2(50\55) ~ [0Om SinS = 'OG(S:AK'Q
< 80 78
(2]
‘ S = S(o9938 .. )

S ~ gy

A telephone pole is supported by two wires on opposite sides. At the top of the pole, the wires form an angle of 60°. On
the ground, the ends of the wires are-15.0 m apart. One wire makes a 45° angle with the ground. How long are the wires,
and how tall is the pole?

To Fied " b= ? c= 7
C 0.\\&0 Sin ks Sinb®

A.. ) 180 —60-%S 5 | . 15(Sn¥s)
S

= 7§' .9\/\‘0
{5 (S & b=122n
b,
c - IS
S Sin 1S $inb®
Sin Ll-S'*_(FZ__? ¢ = 1s(Sin5)
- N 60

b= l&-?(&'n ‘('S);z,“-g ™M ( S )
Optional Extra Practice: Textbook Pg. 433 — 434 #2b, 3acdf, 4 — 8, 10, 11 CRIb Im:

C o Jhe v ave [22m ard (D Tm P
s ele i5 118 opprex



Lesson 1.6 Cosine Law

Which Law do | Use?
Do | have a right angle triangle?

\LNO

Do | have a CORRESPONDING angle and side pair in the triangle?

\LNO

Cannot use SOHCAHTOA or SINE Law

For the Cosine Law we need:

YES - use SOH CAH TOA

YES - use SINE LAW

Must use the The COSINE LAW

-2 sides and the included angle. SAS
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The cosine law is an extension of the Pythagorean theorem to triangles with no right angle.

To find a side (have SAS):
\, S.h-s.
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a? =b? + c? — 2bccosA

b? = a? + c? — 2accosB

c? = a® + b? — 2abcosC

To find an angle (have SS

a?-b*-c*
cosA = ) B
—2kc

—a —C
cosB =
-2ac
c2-q%2-p2
cosC = ——
—-2ab

Ex 1. Calculate a if

2 =47+ 6 — 2(4)(6)cos56

o = 25 ISBIve .-

a = {1c 58740 - -

Ex 2. Calculate X if:
4.52:(3.2§—&.62)_ 2025~ (0°24% — 21 1L
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Determine if you need to use the SINE law or the COSINE law for the following triangles:

a) A
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Draw the triangle and the the nearest tenth if a = 3m, b 5m andc=4.7m
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Draw the triangle then find side b/to the nearest tenth if .B = 68°, a =17 cm, and ¢ =22 cm
A _—

B@C bz 1% 22 = 2(17)(22) (et 08
b~ 299+ 6% ~ 748 Cas 68

k—_ J%olZA_’?'Lk-..
b2 222

Ex. 5 The bases in a baseball diamond are 90 ft apart. A player picks up a ground ball 11 ft from third base, along the line
from second base to third base. Determine the angle that is formed between first base, the player’s present position, and
home plate. \
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Optional Extra Practice: Textbook page 443: 7, 9, 12 and page 449: 1 - 10, 15 g - &0 ( >
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